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WIER BB LR 5R B ET
% # s - BRHE s E i & & W E

EENER 8,792, 950
ERE 8,792,950 x 67.1% — 3,019 5,897, 050
AEREER 8,792,950 + 5,897,050 14, 690, 000
E R 19, 200
EEAGE 19, 200
Z Ot R A 19,200 x 53.85% ( 35% = (1 — 35%) ) 10, 339
EX Y 19,200 + 10,339 29, 539
—REEEZ 29,539 x 53.85% ( 35% = (1 — 35%) ) — 5,445 10, 461
AEREE 29,539 + 10, 461 40, 000
8 E B 14, 690, 000 + 40, 000 14, 730, 000
HEGEHELE 14,730,000 x 10.00% 1,473,000
AEEBR 14,730,000 + 1,473,000 16, 203, 000
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EEIEE 8,812,150
FEEE X 8,812,150
UAVEEBIE 8,812,150
UAVEERIZ 8, 264, 600
{EEEE 297,000
1 E£51E 1.00 297,000 297, 000

=
AR URIEADRE - 88 440, 600
2 EEARUVRIEADKRE - 838 0.80 550, 750 440, 600

kit
UNVIZ &k B ZEdhigs 474, 400
3 UAVIZ &k B ZEdhiRs 0.80 593, 000 474, 400

kit
ZRTMRET (F)OFILT—2DER 2,092, 800

)

4 ZRETBRET (FIVSFILT—2D 0.80 2,616,000 2,092, 800
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m
TS9OV RT—ADEREVEEEL 760, 400
5 059V RTF—2DERRUVEEL 0.80 950, 500 760, 400

ki
BRBETF—E2 T 74 ILDERK 760, 400
6 RET—2 7714 ILDER 0.80 950, 500 760, 400
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MEBHMET—2 774 ILIER 622, 000
7T MEMET—42 774 ILIER 0.80 771,500 622, 000

kit
HHRESE 2,817,000
8 HHRES 1.00 2,817,000 2,817,000

=
HiERE 120, 200
R 120, 200
9 BEFRERERE 1.00 101, 000 101, 000

=
10 ABIFARE SR 1.00 19, 200 19, 200

=
BitTEEE 427, 350
RETEE 427, 350
1 BREEEE 1.00 427, 350 427, 350
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RBILE LS5 E X

&5 1
& MEEEE =10
4 b g - BRKTE By 2 B {f %5 5 &
X2 T
A 1.50 54, 600. 00 81,900
B = HEm
A 3.00 47,100.00 141, 300
B E H A
A 2.00 36, 900. 00 73, 800
& &t fEEEEH - 1.00K 297, 000. 00 297,000
&5 .2
W BERRUVRIADEE - 83 1BZY (0. ki)
4 b g - BRKTE By 2 B {f £ 5 &
B2 B
A 0.25 54, 600. 00 13, 650
BIEHED
A 0.50 47,100. 00 23, 550
B2 H A
A 0.25 36, 900. 00 9,225
BIEBF
A 0.25 34, 600. 00 8, 650
& &t e85 0. 10k 550, 750. 00 55,075
&5 :3
2% UANVIZ L BB 1BHY (0. Tki)
4 b g - BRKTE By 2 B {f £ 5 &
B = HEm
A 0.50 47,100.00 23, 550
B E H A
A 0.50 36, 900. 00 18, 450
BEBF
A 0.50 34, 600. 00 17, 300
& it fE%£4E5 - 0. 10k 593, 000. 00 59, 300
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RBILE LS5 E X

&5 4
B ZREBRET () CFILT—2DER) 1BHY (0. Tki)
2 L R - KT By = B i %8 5 &
B2 AR
A 1.00 47,100.00 47,100
B E H A
A 3.00 36, 900. 00 110, 700
BIEBF
A 3.00 34, 600. 00 103, 800
& it fE%£4E5 - 0. 10k 2,616, 000. 00 261, 600
&8 :5
B IOV RT—2DERRUEEL 1BZY (0. ki)
% E R - kTiE By = B %8 i &
BIEHED
A 0.50 47,100. 00 23, 550
B = AT
A 1.00 36, 900. 00 36, 900
BIEBF
A 1.00 34, 600. 00 34, 600
& &t YEZREH 0. 10km 950, 500. 00 95, 050
E5:6
B RET—2 771 ILDER 1BHY (0. Tki)
2 L R - KT By = B i %8 5 &
B2 AR
A 0.50 47,100. 00 23, 550
B E H A
A 1.00 36, 900. 00 36, 900
BIEBF
A 1.00 34, 600. 00 34, 600
& it fE%£4E5 - 0. 10k 950, 500. 00 95, 050
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&5 :1
B HEET — 2 77 A4 ILERK 1BHY (0. Tki)
2 L g - BRKTE BAGL H = B & %8 W = 5 &
B = HEm
A 0.50 47,100. 00 23, 550
B E H A
A 1.00 36, 900. 00 36, 900
BIEBF
A 0.50 34, 600. 00 17,300
& it fE%£4E5 - 0. 10k 771, 500. 00 717, 750
&5 :8
B MR ES 1KLY
% E R - kTiE B H = B = el = i &
HHRES
= 1.00 2,817, 000. 00 2,817,000
& it fEZ8EH - 1. 00K 2,817,000. 00 2,817,000
&5 :9
2 EFRERERE 1KLY
% E A - kTiE B H = B = el = i &
EFHRBIERE
= 1.00 101, 000. 00 101, 000
& &t fEEEEH - 1.00K 101, 000. 00 101, 000
5 :10
2 NHRARESRIER 1KLY
2 L g - BRKTE BAGL H = B & %8 W = 5 &
A& (C)
A 0.50 38, 400. 00 19, 200
& B fEZ8EH - 1. 00K 19, 200. 00 19,200
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BILE TS50 2 X7
B#5: 1
2 BEEEE 1Y
4 g g - BRTE BAr 8 = B £ 5 &=
REEEE
= 1.00 427, 350. 00 427, 350
& H 1E%EHEH - 1.00K 4217, 350. 00 427, 350




